Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 13 Garscadden-Scotstounhill

8,688

4

1,738

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Gisela ALLEN	UKIP	106
Bill BUTLER	Glasgow Labour	2,020
Samuel COOK	Tommy Sheridan - Solidarity - Hope Over Fear	62
Michael CULLEN	Scottish National Party (SNP)	1,751
Chris CUNNINGHAM	Scottish National Party (SNP)	1,221
Gillian MACDONALD	Scottish Green Party	439
Eva MURRAY	Glasgow Labour	912
Tariq PARVEZ	Scottish Conservative and Unionist	1,060
Roza SALIH	Scottish National Party (SNP)	926
David WALKER	Scottish Liberal Democrats	191
	Total	8,688

Candidate Bill BUTLER Elected with 2,020 votes, being in excess of the quota of 1,738 Candidate Michael CULLEN Elected with 1,751 votes, being in excess of the quota of 1,738

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Bill BUTLER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gisela ALLEN	29	0.13960	4.04840
Transfer to Bill BUTLER	0	0.00000	0.00000
Transfer to Samuel COOK	23	0.13960	3.21080
Transfer to Michael CULLEN	0	0.00000	0.00000
Transfer to Chris CUNNINGHAM	90	0.13960	12.56400
Transfer to Gillian MACDONALD	45	0.13960	6.28200
Transfer to Eva MURRAY	1,470	0.13960	205.21200
Transfer to Tariq PARVEZ	77	0.13960	10.74920
Transfer to Roza SALIH	14	0.13960	1.95440
Transfer to David WALKER	26	0.13960	3.62960
Value of non-transferable ballot papers			34.34960
	Total		282.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Michael CULLEN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gisela ALLEN	2	0.00742	0.01484
Transfer to Bill BUTLER	0	0.00000	0.00000
Transfer to Samuel COOK	21	0.00742	0.15582
Transfer to Michael CULLEN	0	0.00000	0.00000
Transfer to Chris CUNNINGHAM	1,351	0.00742	10.02442
Transfer to Gillian MACDONALD	57	0.00742	0.42294
Transfer to Eva MURRAY	34	0.00742	0.25228
Transfer to Tariq PARVEZ	8	0.00742	0.05936
Transfer to Roza SALIH	197	0.00742	1.46174
Transfer to David WALKER	2	0.00742	0.01484
Value of non-transferable ballot papers			0.59376
	Total		13.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Samuel COOK

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gisela ALLEN	4	1.00000	4.00000
Transfer to Bill BUTLER	0	0.00000	0.00000
Transfer to Michael CULLEN	0	0.00000	0.00000
Transfer to Chris CUNNINGHAM	8	0.00742	0.05936
Transfer to Chris CUNNINGHAM	18	1.00000	18.00000
Transfer to Chris CUNNINGHAM	2	0.13960	0.27920
Transfer to Gillian MACDONALD	5	0.13960	0.69800
Transfer to Gillian MACDONALD	14	1.00000	14.00000
Transfer to Eva MURRAY	5	1.00000	5.00000
Transfer to Eva MURRAY	8	0.13960	1.11680
Transfer to Eva MURRAY	4	0.00742	0.02968
Transfer to Tariq PARVEZ	1	0.13960	0.13960
Transfer to Tariq PARVEZ	2	1.00000	2.00000
Transfer to Roza SALIH	5	1.00000	5.00000
Transfer to Roza SALIH	1	0.13960	0.13960
Transfer to Roza SALIH	3	0.00742	0.02226
Transfer to David WALKER	3	1.00000	3.00000
Value of non-transferable ballot papers			11.88212
	Total		65.36662

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Gisela ALLEN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill BUTLER	0	0.00000	0.00000
Transfer to Samuel COOK	0	0.00000	0.00000
Transfer to Michael CULLEN	0	0.00000	0.00000
Transfer to Chris CUNNINGHAM	1	0.00742	0.00742
Transfer to Chris CUNNINGHAM	3	0.13960	0.41880
Transfer to Chris CUNNINGHAM	7	1.00000	7.00000
Transfer to Gillian MACDONALD	18	1.00000	18.00000
Transfer to Gillian MACDONALD	2	0.13960	0.27920
Transfer to Eva MURRAY	16	0.13960	2.23360
Transfer to Eva MURRAY	15	1.00000	15.00000
Transfer to Tariq PARVEZ	35	1.00000	35.00000
Transfer to Tariq PARVEZ	1	0.13960	0.13960
Transfer to Roza SALIH	1	1.00000	1.00000
Transfer to David WALKER	10	1.00000	10.00000
Value of non-transferable ballot papers			24.98462
	Total		114.06324

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of David WALKER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gisela ALLEN	0	0.00000	0.00000
Transfer to Bill BUTLER	0	0.00000	0.00000
Transfer to Samuel COOK	0	0.00000	0.00000
Transfer to Michael CULLEN	0	0.00000	0.00000
Transfer to Chris CUNNINGHAM	13	1.00000	13.00000
Transfer to Gillian MACDONALD	46	1.00000	46.00000
Transfer to Gillian MACDONALD	4	0.13960	0.55840
Transfer to Eva MURRAY	8	0.13960	1.11680
Transfer to Eva MURRAY	42	1.00000	42.00000
Transfer to Tariq PARVEZ	53	1.00000	53.00000
Transfer to Tariq PARVEZ	6	0.13960	0.83760
Transfer to Roza SALIH	1	0.13960	0.13960
Transfer to Roza SALIH	6	1.00000	6.00000
Value of non-transferable ballot papers			44.99204
	 Total		207.64444

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Gillian MACDONALD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gisela ALLEN	0	0.00000	0.00000
Transfer to Bill BUTLER	0	0.00000	0.00000
Transfer to Samuel COOK	0	0.00000	0.00000
Transfer to Michael CULLEN	0	0.00000	0.00000
Transfer to Chris CUNNINGHAM	141	1.00000	141.00000
Transfer to Chris CUNNINGHAM	29	0.00742	0.21518
Transfer to Chris CUNNINGHAM	9	0.13960	1.25640
Transfer to Eva MURRAY	24	0.13960	3.35040
Transfer to Eva MURRAY	6	0.00742	0.04452
Transfer to Eva MURRAY	106	1.00000	106.00000
Transfer to Tariq PARVEZ	29	1.00000	29.00000
Transfer to Tariq PARVEZ	1	0.00742	0.00742
Transfer to Tariq PARVEZ	3	0.13960	0.41880
Transfer to Roza SALIH	1	0.13960	0.13960
Transfer to Roza SALIH	8	0.00742	0.05936
Transfer to Roza SALIH	125	1.00000	125.00000
Transfer to David WALKER	0	0.00000	0.00000
Value of non-transferable ballot papers			118.74886
	Total		525.24054

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Roza SALIH

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gisela ALLEN	0	0.00000	0.00000
Transfer to Bill BUTLER	0	0.00000	0.00000
Transfer to Samuel COOK	0	0.00000	0.00000
Transfer to Michael CULLEN	0	0.00000	0.00000
Transfer to Chris CUNNINGHAM	185	0.00742	1.37270
Transfer to Chris CUNNINGHAM	2	0.13960	0.27920
Transfer to Chris CUNNINGHAM	919	1.00000	919.00000
Transfer to Gillian MACDONALD	0	0.00000	0.00000
Transfer to Eva MURRAY	47	1.00000	47.00000
Transfer to Eva MURRAY	4	0.13960	0.55840
Transfer to Eva MURRAY	8	0.00742	0.05936
Transfer to Tariq PARVEZ	12	1.00000	12.00000
Transfer to David WALKER	0	0.00000	0.00000
Value of non-transferable ballot papers			86.64690
	Total		1.066.91656

Transfers Report

This report contains the transfers results.

Stage 9 - Surplus of Chris CUNNINGHAM

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gisela ALLEN	0	0.00000	0.00000
Transfer to Bill BUTLER	0	0.00000	0.00000
Transfer to Samuel COOK	0	0.00000	0.00000
Transfer to Michael CULLEN	0	0.00000	0.00000
Transfer to Chris CUNNINGHAM	0	0.00000	0.00000
Transfer to Gillian MACDONALD	0	0.00000	0.00000
Transfer to Eva MURRAY	630	0.25899	163.16370
Transfer to Eva MURRAY	356	0.00192	0.68352
Transfer to Eva MURRAY	41	0.03615	1.48215
Transfer to Tariq PARVEZ	7	0.03615	0.25305
Transfer to Tariq PARVEZ	38	0.00192	0.07296
Transfer to Tariq PARVEZ	54	0.25899	13.98546
Transfer to Roza SALIH	0	0.00000	0.00000
Transfer to David WALKER	0	0.00000	0.00000
Value of non-transferable ballot papers			427.83584
	Total		607.47668

Transfers Report

This report contains the transfers results.

Stage 10 - Exclusion of Tariq PARVEZ

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gisela ALLEN	0	0.00000	0.00000
Transfer to Bill BUTLER	0	0.00000	0.00000
Transfer to Samuel COOK	0	0.00000	0.00000
Transfer to Michael CULLEN	0	0.00000	0.00000
Transfer to Chris CUNNINGHAM	0	0.00000	0.00000
Transfer to Gillian MACDONALD	0	0.00000	0.00000
Transfer to Eva MURRAY	23	0.00192	0.04416
Transfer to Eva MURRAY	3	0.03615	0.10845
Transfer to Eva MURRAY	40	0.13960	5.58400
Transfer to Eva MURRAY	24	0.25899	6.21576
Transfer to Eva MURRAY	457	1.00000	457.00000
Transfer to Roza SALIH	0	0.00000	0.00000
Transfer to David WALKER	0	0.00000	0.00000
Value of non-transferable ballot papers			748.71068
	Total		1,217.66305